



---

*Research article*

## Fourth-order high-precision algorithms for one-sided tempered fractional diffusion equations

Zeshan Qiu\*

Department of Basic Education, Xinjiang University of Political Science and Law,  
Tumushuke 844000, China

\* **Correspondence:** Email: 201721511184@smail.xtu.edu.cn, xjzfqzs@163.com.

**Abstract:** In this paper, high-order numerical algorithms for two classes of time-independent one-sided tempered fractional diffusion equations were studied. The time derivative was discretized by the backward difference formula, the space tempered fractional derivatives were discretized based on tempered weighted and shifted Grünwald difference operators combined with the quasi-compact technique, and the effective second-order numerical approximations of the left and right third-order Riemann-Liouville tempered derivatives were given, thus the detailed fourth-order numerical schemes of these two classes of equations were derived. With the energy method, we proved rigorously that the numerical schemes were stable and convergent with order  $O(\tau + h^4)$  and were only related to the tempered parameter  $\lambda$ . Finally, some examples were given to verify the validity of the numerical schemes.

**Keywords:** tempered fractional diffusion equations; quasi-compact technique; fourth-order numerical schemes; stability and convergence

**Mathematics Subject Classification:** 65M06, 65M12

---

### 1. Introduction

In this paper, the following one-sided tempered fractional diffusion equations are considered:

$$\begin{cases} \frac{\partial u(x,t)}{\partial t} = K(D_{a,x}^{\alpha,\lambda} u(x,t) - \lambda^\alpha u(x,t) - \alpha \lambda^{\alpha-1} \frac{\partial u(x,t)}{\partial x}) + f(x,t), & (x,t) \in (a,b) \times (0,T], \\ u(x,0) = \varphi(x), & x \in [a,b], \\ u(a,t) = 0, u(b,t) = \psi_r(t), & t \in [0,T], \end{cases} \quad (1.1)$$

and

$$\begin{cases} \frac{\partial u(x,t)}{\partial t} = K(D_{x,b}^{\alpha,\lambda} u(x,t) - \lambda^\alpha u(x,t) + \alpha \lambda^{\alpha-1} \frac{\partial u(x,t)}{\partial x}) + f(x,t), & (x,t) \in (a,b) \times (0,T], \\ u(x,0) = \varphi(x), & x \in [a,b], \\ u(a,t) = \psi_l(t), u(b,t) = 0, & t \in [0,T], \end{cases} \quad (1.2)$$

where  $1 < \alpha < 2$ ,  $\lambda \geq 0$ , the diffusion coefficient  $K$  is positive, and  $f(x,t)$  is the source term.  $D_{a,x}^{\alpha,\lambda} u(x,t)$  and  $D_{x,b}^{\alpha,\lambda} u(x,t)$  represent the left and right Riemann-Liouville tempered fractional derivatives, respectively, and are defined as

$$\begin{cases} D_{a,x}^{\alpha,\lambda} u(x,t) = \frac{e^{-\lambda x}}{\Gamma(2-\alpha)} \frac{\partial^2}{\partial x^2} \left( \int_a^x \frac{e^{\lambda \tau} u(\tau,t)}{(x-\tau)^{\alpha-1}} d\tau \right), \\ D_{x,b}^{\alpha,\lambda} u(x,t) = \frac{e^{\lambda x}}{\Gamma(2-\alpha)} \frac{\partial^2}{\partial x^2} \left( \int_x^b \frac{e^{-\lambda \tau} u(\tau,t)}{(\tau-x)^{\alpha-1}} d\tau \right). \end{cases} \quad (1.3)$$

The concept of fractional derivatives appeared almost at the same time as integer derivatives, but the lack of application background of fractional derivatives at the beginning of their appearance made fractional models not widely developed until recent decades. Fractional models are widely used in physics [1–4], finance [5], biology [6], and hydrology [7–9]. Recently, the study of fractional diffusion equations has attracted a lot of attention, in which the integral derivatives of diffusion equations are replaced by the fractional derivatives to obtain fractional diffusion equations. Usually the time fractional derivatives describe anomalous sub-diffusion, and the space fractional derivatives describe anomalous super-diffusion [10].

The analytical solutions of fractional differential equations usually cannot be obtained because of the nonlocality of fractional derivatives. Therefore, a lot of attention has been paid to the development of high-precision numerical methods, and a lot of results have been obtained [11–15]. For the space fractional advection-dispersion equations, Meerschaert and Tadjeran [11] point out that the standard Grünwald difference operator to approximate the Riemann-Liouville fractional derivative is unconditionally unstable regardless of the implicit and explicit Euler methods, so a modified Grünwald difference operator, called the shifted Grünwald difference operator, is proposed to solve this problem. Based on the shift Grünwald difference operator and its idea, more research has been done [16–20]. While developing numerical methods for fractional diffusion equations, some researchers have found that if the power law (waiting time or jump length) is tempered by an exponential factor, it has practical advantages [21–23]. Therefore, the time and space tempered fractional derivatives are obtained, and the time tempered fractional derivative yields the time tempered fractional diffusion equation [22]. Luo et al. [24] proposed an effective Lagrange-quadratic spline optimal collocation method to solve it. The space tempered fractional derivative yields the space tempered fractional diffusion equation [23]. It is very important to develop numerical methods for tempered fractional diffusion equations.

A common way to solve the space tempered fractional diffusion equation is to develop a modified Grünwald difference operator based on the idea of the shifted Grünwald difference operator, called the tempered shifted Grünwald difference operator by Baeumer and Meerschaert [25], which is used to solve the tempered fractional advection-dispersion equation, but the space direction has only first-order precision. Based on the idea of the tempered shifted Grünwald difference operator, Li and Deng [26] obtained a class of second-order approximations of left and right Riemann-Liouville

tempered fractional derivatives by using the weighted idea, called the tempered weighted and shifted Grünwald difference operators, which combined with the Crank-Nicolson method is used to solve the two-sided tempered fractional diffusion equations. See more studies on space-time tempered fractional differential equations [27, 28], time tempered fractional differential equations [29, 30], and space tempered fractional differential equations [31–35]. Similar to the quasi-compact scheme of fractional diffusion equations [36–38], it is natural to think of applying the quasi-compact technique to the numerical solutions of two-sided tempered fractional diffusion equations. However, due to the incompatibility of the left and right Riemann-Liouville tempered fractional quasi-compact operators, Yu et al. [39] considered the quasi-compact technique on the one-sided tempered fractional diffusion equations and obtained that the numerical schemes are stable and convergent with order  $O(\tau + h^3)$  and the schemes don't depend on time and space steps. The high-order quasi-compact scheme of the two-sided tempered fractional diffusion equation needs to be studied.

The novelty of this paper is that the fourth-order numerical schemes of the one-sided tempered fractional diffusion equations are given, and the convergence accuracy is one order higher than that of the existing literature. In the process of proposing the numerical schemes, the left and right third-order Riemann-Liouville tempered derivatives will be generated, so it is necessary to study their effective second-order numerical approximations, and we obtain them through the definition of Riemann-Liouville tempered integer derivatives. Finally, the effective fourth-order numerical schemes for solving these two classes of problems are obtained. In addition, there is a simpler numerical scheme that will be available to solve the two-sided fractional advection-diffusion equations [38] by using the idea of this paper.

The remaining sections of this paper are arranged as follows: Section 2 gives the fourth-order quasi-compact approximations of tempered fractional derivatives. In Section 3, the numerical scheme for solving problems (1.1) and (1.2) are derived. The stability and convergence of the numerical schemes are proved in Section 4. Section 5 shows by examples that the numerical schemes are effective. Finally, a brief summary of this work is given in Section 6.

## 2. Fourth-order quasi-compact approximations of tempered fractional derivatives

Define a fractional Sobolev space  $S_\lambda^{n+\alpha}(\mathbb{R})$ ,

$$S_\lambda^{n+\alpha}(\mathbb{R}) = \{v \mid v \in L_1(\mathbb{R}), \text{ and } \int_{\mathbb{R}} (|\lambda| + |w|)^{n+\alpha} |\hat{v}(w)| dw < \infty\},$$

where  $\hat{v}(w) = \int_{\mathbb{R}} v(x)e^{-iw x} dx$  is the Fourier transform of  $v(x)$ .

**Lemma 2.1.** [25, 26] *Let  $1 < \alpha < 2$ ,  $\lambda \geq 0$ . The shift number  $p$  is an integer,  $h$  is the step size,  $v(x)$  is defined on the bounded interval  $[a, b]$ , and belongs to  $S_\lambda^{n+\alpha}(\mathbb{R})$  after zero extension on the interval  $x \in (-\infty, a) \cup (b, +\infty)$ . The tempered and shifted Grünwald type difference operators are defined as*

$$\begin{cases} A_{h,p}^{\alpha,\lambda} v(x) = \frac{1}{h^\alpha} \sum_{k=0}^{\lfloor \frac{x-a}{h} \rfloor + p} g_k^{(\alpha)} e^{-(k-p)\lambda h} v(x - (k-p)h), \\ \hat{A}_{h,p}^{\alpha,\lambda} v(x) = \frac{1}{h^\alpha} \sum_{k=0}^{\lfloor \frac{b-x}{h} \rfloor + p} g_k^{(\alpha)} e^{-(k-p)\lambda h} v(x + (k-p)h), \end{cases} \quad (2.1)$$

then

$$\begin{cases} A_{h,p}^{\alpha,\lambda} v(x) = D_{a,x}^{\alpha,\lambda} v(x) + \sum_{k=1}^{n-1} c_k^{\alpha,p} D_{a,x}^{k+\alpha,\lambda} v(x) h^k + O(h^n), \\ \hat{A}_{h,p}^{\alpha,\lambda} v(x) = D_{x,b}^{\alpha,\lambda} v(x) + \sum_{k=1}^{n-1} c_k^{\alpha,p} D_{x,b}^{k+\alpha,\lambda} v(x) h^k + O(h^n), \end{cases} \quad (2.2)$$

where  $g_k^{(\alpha)} = (-1)^k \binom{\alpha}{k} (k \geq 0)$  denotes the normalized Grünwald weights, that is,

$$(1-s)^\alpha = \sum_{k=0}^{+\infty} g_k^{(\alpha)} s^k, \quad (2.3)$$

$c_k^{\alpha,p}$  are the power series expansion coefficients of the function  $W_p(s) = e^{ps} \frac{(1-e^{-s})^\alpha}{s} = \sum_{k=0}^{+\infty} c_k^{\alpha,p} s^k$ , and the first four coefficients are given as

$$\begin{cases} c_0^{\alpha,p} = 1, \\ c_1^{\alpha,p} = p - \frac{\alpha}{2}, \\ c_2^{\alpha,p} = \frac{12p^2 - 12p\alpha + \alpha + 3\alpha^2}{24}, \\ c_3^{\alpha,p} = \frac{8p^3 - 12p^2\alpha + 2p(\alpha + 3\alpha^2) - \alpha^2 - \alpha^3}{48}. \end{cases}$$

**Remark 2.1.** Let the equations be

$$\begin{cases} \gamma_1 + \gamma_0 + \gamma_{-1} = 1, \\ \gamma_1 c_1^{\alpha,1} + \gamma_0 c_1^{\alpha,0} + \gamma_{-1} c_1^{\alpha,-1} = 0, \\ \gamma_1 c_3^{\alpha,1} + \gamma_0 c_3^{\alpha,0} + \gamma_{-1} c_3^{\alpha,-1} = 0, \end{cases}$$

then

$$\begin{cases} \gamma_1 = \frac{1}{12}(\alpha^2 + 3\alpha + 2), \\ \gamma_0 = \frac{1}{6}(-\alpha^2 + 4), \\ \gamma_{-1} = \frac{1}{12}(\alpha^2 - 3\alpha + 2), \end{cases}$$

and there are the following approximations:

$$\left\{ \begin{aligned}
B_h^{\alpha,\lambda} \nu(x) &= \sum_{p=-1}^1 \gamma_p A_{h,p}^{\alpha,\lambda} \nu(x) = \frac{1}{h^\alpha} \sum_{k=0}^{\lceil \frac{x-a}{h} \rceil + 1} w_k^{(\alpha)} \nu(x - (k-1)h) \\
&= D_{a,x}^{\alpha,\lambda} \nu(x) + \frac{-\alpha^2 + \alpha + 4}{24} D_{a,x}^{2+\alpha,\lambda} \nu(x) h^2 + O(h^4) \\
&= \left( I + \frac{-\alpha^2 + \alpha + 4}{24} h^2 D_{a,x}^{2,\lambda} \right) D_{a,x}^{\alpha,\lambda} \nu(x) + O(h^4), \\
\hat{B}_h^{\alpha,\lambda} \nu(x) &= \sum_{p=-1}^1 \gamma_p \hat{A}_{h,p}^{\alpha,\lambda} \nu(x) = \frac{1}{h^\alpha} \sum_{k=0}^{\lceil \frac{b-x}{h} \rceil + 1} w_k^{(\alpha)} \nu(x + (k-1)h) \\
&= D_{x,b}^{\alpha,\lambda} \nu(x) + \frac{-\alpha^2 + \alpha + 4}{24} D_{x,b}^{2+\alpha,\lambda} \nu(x) h^2 + O(h^4) \\
&= \left( I + \frac{-\alpha^2 + \alpha + 4}{24} h^2 D_{x,b}^{2,\lambda} \right) D_{x,b}^{\alpha,\lambda} \nu(x) + O(h^4),
\end{aligned} \right. \quad (2.4)$$

where

$$\left\{ \begin{aligned}
w_k^{(\alpha)} &= (\gamma_1^{(\alpha)} g_k^{(\alpha)} + \gamma_0^{(\alpha)} g_{k-1}^{(\alpha)} + \gamma_{-1}^{(\alpha)} g_{k-2}^{(\alpha)}) e^{-(k-1)\lambda h} \quad (k \geq 0, g_{-2}^{(\alpha)} = g_{-1}^{(\alpha)} = 0), \\
w_0^{(\alpha)} + w_2^{(\alpha)} &> 0, \quad w_1^{(\alpha)} < 0, \quad w_k^{(\alpha)} > 0 \quad (k \geq 3), \\
\sum_{k=0}^{+\infty} w_k^{(\alpha)} &= (\gamma_1^{(\alpha)} e^{\lambda h} + \gamma_0^{(\alpha)} + \gamma_{-1}^{(\alpha)} e^{-\lambda h}) (1 - e^{-\lambda h})^\alpha,
\end{aligned} \right. \quad (2.5)$$

in particular, when  $\alpha = 1$ , the following approximations are given as

$$\left\{ \begin{aligned}
\left( I + \frac{1}{6} h^2 D_{a,x}^{2,\lambda} \right) D_{a,x}^{1,\lambda} \nu(x) &= \sum_{p=-1}^1 \gamma_p A_{h,p}^{1,\lambda} \nu(x) + O(h^4) \\
&= \frac{1}{2h} (e^{\lambda h} \nu(x+h) - e^{-\lambda h} \nu(x-h)) + O(h^4) \\
&= B_h^{1,\lambda} \nu(x) + O(h^4), \\
\left( I + \frac{1}{6} h^2 D_{x,b}^{2,\lambda} \right) D_{x,b}^{1,\lambda} \nu(x) &= \sum_{p=-1}^1 \gamma_p \hat{A}_{h,p}^{1,\lambda} \nu(x) + O(h^4) \\
&= \frac{1}{2h} (e^{\lambda h} \nu(x-h) - e^{-\lambda h} \nu(x+h)) + O(h^4) \\
&= \hat{B}_h^{1,\lambda} \nu(x) + O(h^4).
\end{aligned} \right. \quad (2.6)$$

For the first left and right Riemann-Liouville tempered derivatives  $D_{a,x}^{1,\lambda} \nu(x)$  and  $D_{x,b}^{1,\lambda} \nu(x)$ , we know

$$\left\{ \begin{aligned}
D_{a,x}^{1,\lambda} \nu(x) &= e^{-\lambda x} \frac{d}{dx} [e^{\lambda x} \nu(x)] = \frac{d\nu(x)}{dx} + \lambda \nu(x), \\
D_{x,b}^{1,\lambda} \nu(x) &= -e^{\lambda x} \frac{d}{dx} [e^{-\lambda x} \nu(x)] = -\frac{d\nu(x)}{dx} + \lambda \nu(x),
\end{aligned} \right. \quad (2.7)$$

so the normalized left and right Riemann-Liouville tempered fractional derivatives can be rewritten as

$$\begin{aligned} & D_{a,x}^{\alpha,\lambda}v(x) - \lambda^\alpha v(x) - \alpha\lambda^{\alpha-1}\frac{dv(x)}{dx} \\ &= D_{a,x}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha v(x) - \alpha\lambda^{\alpha-1}\left[\frac{dv(x)}{dx} + \lambda v(x)\right] \\ &= D_{a,x}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha v(x) - \alpha\lambda^{\alpha-1}D_{a,x}^{1,\lambda}v(x), \end{aligned} \quad (2.8)$$

and

$$\begin{aligned} & D_{x,b}^{\alpha,\lambda}v(x) - \lambda^\alpha v(x) + \alpha\lambda^{\alpha-1}\frac{dv(x)}{dx} \\ &= D_{x,b}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha v(x) - \alpha\lambda^{\alpha-1}\left[-\frac{dv(x)}{dx} + \lambda v(x)\right] \\ &= D_{x,b}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha v(x) - \alpha\lambda^{\alpha-1}D_{x,b}^{1,\lambda}v(x). \end{aligned} \quad (2.9)$$

Let  $\Lambda_x^\alpha := (I + ch^2D_{a,x}^{2,\lambda})$  and  $\Delta_x^\alpha := (I + ch^2D_{x,b}^{2,\lambda})$ , where  $c = \frac{-\alpha^2+\alpha+4}{24} \in (\frac{1}{12}, \frac{1}{6}]$ . Now, we give the following theorem as the contribution of this paper.

**Theorem 2.1.** *Let  $v(x) \in S^{4+\alpha}(\mathbb{R})$ ,  $1 < \alpha < 2$ ,  $\lambda \geq 0$ , and the continuous operators  $\Lambda_x^\alpha$  and  $\Delta_x^\alpha$  are given to operate on the normalized left and right Riemann-Liouville tempered fractional derivatives, respectively. Then,*

$$\begin{aligned} & \Lambda_x^\alpha D_{a,x}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha \Lambda_x^\alpha v(x) - \alpha\lambda^{\alpha-1}\Lambda_x^\alpha D_{a,x}^{1,\lambda}v(x) \\ &= \Lambda_x^\alpha D_{a,x}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha \Lambda_x^\alpha v(x) - \alpha\lambda^{\alpha-1}\Lambda_x^1 D_{a,x}^{1,\lambda}v(x) + \alpha\lambda^{\alpha-1}\left(\frac{1}{6} - c\right)h^2 D_{a,x}^{2,\lambda}(D_{a,x}^{1,\lambda}v(x)), \end{aligned} \quad (2.10)$$

and

$$\begin{aligned} & \Delta_x^\alpha D_{x,b}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha \Delta_x^\alpha v(x) - \alpha\lambda^{\alpha-1}\Delta_x^\alpha D_{x,b}^{1,\lambda}v(x) \\ &= \Delta_x^\alpha D_{x,b}^{\alpha,\lambda}v(x) + (\alpha - 1)\lambda^\alpha \Delta_x^\alpha v(x) - \alpha\lambda^{\alpha-1}\Delta_x^1 D_{x,b}^{1,\lambda}v(x) + \alpha\lambda^{\alpha-1}\left(\frac{1}{6} - c\right)h^2 D_{x,b}^{2,\lambda}(D_{x,b}^{1,\lambda}v(x)) \end{aligned} \quad (2.11)$$

have a fourth-order approximation, respectively. The details are as follows:

$$\left\{ \begin{array}{l} (i). \Lambda_x^\alpha D_{a,x}^{\alpha,\lambda}v(x) = B_h^{\alpha,\lambda}v(x) + O(h^4), \\ (ii). \Lambda_x^1 D_{a,x}^{1,\lambda}v(x) = B_h^{1,\lambda}v(x) + O(h^4), \\ (iii). \Lambda_x^\alpha v(x) = C_h^{\alpha,\lambda}v(x) + O(h^4), \\ (iv). D_{a,x}^{2,\lambda}(D_{a,x}^{1,\lambda}v(x)) = \lambda^3 v(x) + 3\lambda^2 \delta_x v(x) + 3\lambda \delta_x^2 v(x) + \delta_{x,1}^3 v(x) + O(h^2), \end{array} \right. \quad (2.12)$$

and

$$\left\{ \begin{array}{l} (i). \Delta_x^\alpha D_{x,b}^{\alpha,\lambda}v(x) = \hat{B}_h^{\alpha,\lambda}v(x) + O(h^4), \\ (ii). \Delta_x^1 D_{x,b}^{1,\lambda}v(x) = \hat{B}_h^{1,\lambda}v(x) + O(h^4), \\ (iii). \Delta_x^\alpha v(x) = \hat{C}_h^{\alpha,\lambda}v(x) + O(h^4), \\ (iv). D_{x,b}^{2,\lambda}(D_{x,b}^{1,\lambda}v(x)) = \lambda^3 v(x) - 3\lambda^2 \delta_x v(x) + 3\lambda \delta_x^2 v(x) - \delta_{x,2}^3 v(x) + O(h^2), \end{array} \right. \quad (2.13)$$

where

$$\left\{ \begin{array}{l} C_h^{\alpha,\lambda} v(x) = v(x) + ch^2 e^{-\lambda x} \delta_x^2 [e^{\lambda x} v(x)], \\ \hat{C}_h^{\alpha,\lambda} v(x) = v(x) + ch^2 e^{\lambda x} \delta_x^2 [e^{-\lambda x} v(x)], \\ \delta_x v(x) = \frac{1}{2h} [v(x+h) - v(x-h)], \\ \delta_x^2 v(x) = \frac{1}{h^2} [v(x+h) - 2v(x) + v(x-h)], \\ \delta_{x,1}^3 v(x) = \frac{1}{2h^3} [v(x-3h) - 6v(x-2h) + 12v(x-h) - 10v(x) + 3v(x+h)], \\ \delta_{x,2}^3 v(x) = \frac{1}{2h^3} [-v(x+3h) + 6v(x+2h) - 12v(x+h) + 10v(x) - 3v(x-h)]. \end{array} \right. \quad (2.14)$$

*Proof.* From Remark 2.1, the conclusion of (i) and (ii) in Eqs (2.12) and (2.13) can be obtained.

For the conclusion (iii) in Eqs (2.12) and (2.13), it is easy to obtain the following:

$$\left\{ \begin{array}{l} \Lambda_x^\alpha v(x) = v(x) + ch^2 e^{-\lambda x} \frac{d^2}{dx^2} [e^{\lambda x} v(x)] \\ \quad = ce^{\lambda h} v(x+h) + (1-2c)v(x) + ce^{-\lambda h} v(x-h) + O(h^4) \\ \quad = v(x) + ch^2 e^{-\lambda x} \delta_x^2 [e^{\lambda x} v(x)] + O(h^4) \\ \quad = C_h^{\alpha,\lambda} v(x) + O(h^4), \\ \Delta_x^\alpha v(x) = v(x) + ch^2 e^{\lambda x} \frac{d^2}{dx^2} [e^{-\lambda x} v(x)] \\ \quad = ce^{-\lambda h} v(x+h) + (1-2c)v(x) + ce^{\lambda h} v(x-h) + O(h^4) \\ \quad = v(x) + ch^2 e^{\lambda x} \delta_x^2 [e^{-\lambda x} v(x)] + O(h^4) \\ \quad = \hat{C}_h^{\alpha,\lambda} v(x) + O(h^4). \end{array} \right. \quad (2.15)$$

Finally,  $D_{a,x}^{2,\lambda}(D_{a,x}^{1,\lambda}v(x))$  and  $D_{x,b}^{2,\lambda}(D_{x,b}^{1,\lambda}v(x))$  can be represented as

$$\left\{ \begin{array}{l} D_{a,x}^{2,\lambda}(D_{a,x}^{1,\lambda}v(x)) = e^{-\lambda x} \frac{d^2}{dx^2} \{ e^{\lambda x} [e^{-\lambda x} \frac{d}{dx} (e^{\lambda x} v(x))] \} \\ \quad = \lambda^3 v(x) + 3\lambda^2 \frac{dv(x)}{dx} + 3\lambda \frac{d^2 v(x)}{dx^2} + \frac{d^3 v(x)}{dx^3}, \\ D_{x,b}^{2,\lambda}(D_{x,b}^{1,\lambda}v(x)) = e^{\lambda x} \frac{d^2}{dx^2} \{ e^{-\lambda x} [-e^{\lambda x} \frac{d}{dx} (e^{-\lambda x} v(x))] \} \\ \quad = \lambda^3 v(x) - 3\lambda^2 \frac{dv(x)}{dx} + 3\lambda \frac{d^2 v(x)}{dx^2} - \frac{d^3 v(x)}{dx^3}. \end{array} \right. \quad (2.16)$$

For derivatives of order 1 to 3, we adopt the following discretizations, respectively,

$$\left\{ \begin{array}{l} \frac{dv(x)}{dx} = \frac{1}{2h} [v(x+h) - v(x-h)] + O(h^2) = \delta_x v(x) + O(h^2), \\ \frac{d^2 v(x)}{dx^2} = \frac{1}{h^2} [v(x+h) - 2v(x) + v(x-h)] + O(h^2) = \delta_x^2 v(x) + O(h^2), \end{array} \right. \quad (2.17)$$

$$\left\{ \begin{aligned} \frac{d^3 v(x)}{dx^3} &= \frac{1}{2h^3} [v(x-3h) - 6v(x-2h) + 12v(x-h) - 10v(x) + 3v(x+h)] + O(h^2) \\ &= \delta_{x,1}^3 v(x) + O(h^2), \\ \frac{d^3 v(x)}{dx^3} &= \frac{1}{2h^3} [-v(x+3h) + 6v(x+2h) - 12v(x+h) + 10v(x) - 3v(x-h)] + O(h^2) \\ &= \delta_{x,2}^3 v(x) + O(h^2). \end{aligned} \right. \quad (2.18)$$

Thus, the whole conclusion of the theorem is proved.  $\square$

### 3. Derivation of the numerical schemes

In this section, we consider the numerical scheme for solving problems (1.1) and (1.2). Here, we always assume that the function  $u(x, \cdot)$  in problem (1.1) and (1.2) belongs to  $S_{\lambda}^{4+\alpha}(\mathbb{R})$  after zero extension.

We make space grid  $\{x_i = a + ih\}_0^M$  and time grid  $\{t_n = n\tau\}_0^N$ , where  $h = \frac{b-a}{M}$  and  $\tau = \frac{T}{N}$  represent the space step size and the time step size, respectively. Let  $u_i^n = u(x_i, t_n)$ ,  $f_i^n = f(x_i, t_n)$ , and  $U_i^n$  represent the numerical solution at the point  $(x_i, t_n)$ .

For problem (1.1), the operator  $\Lambda_x^\alpha$  is applied to both the left and right ends of equation. We obtain

$$\begin{aligned} \Lambda_x^\alpha \frac{\partial u(x, t)}{\partial t} &= K[\Lambda_x^\alpha D_{a,x}^{\alpha,\lambda} u(x, t) + (\alpha - 1)\lambda^\alpha \Lambda_x^\alpha u(x, t) - \alpha\lambda^{\alpha-1} \Lambda_x^1 D_{a,x}^{1,\lambda} u(x, t) \\ &\quad + \alpha\lambda^{\alpha-1} h^2 (\frac{1}{6} - c) D_{a,x}^{2,\lambda} (D_{a,x}^{1,\lambda} u(x, t))] + \Lambda_x^\alpha f(x, t), \end{aligned} \quad (3.1)$$

then the backward Euler method is carried out at the point  $(x_i, t_n)$  to discrete the time partial derivative, and by Theorem 2.1, we get

$$\begin{aligned} C_h^{\alpha,\lambda} \left( \frac{u_i^n - u_i^{n-1}}{\tau} \right) &= K[B_h^{\alpha,\lambda} u_i^n + (\alpha - 1)\lambda^\alpha C_h^{\alpha,\lambda} u_i^n - \alpha\lambda^{\alpha-1} B_h^{1,\lambda} u_i^n \\ &\quad + \alpha\lambda^{\alpha-1} h^2 (\frac{1}{6} - c) (\lambda^3 u_i^n + 3\lambda^2 \delta_x u_i^n + 3\lambda \delta_x^2 u_i^n + \delta_{x,1}^3 u_i^n)] \\ &\quad + C_h^{\alpha,\lambda} f_i^n + R_i^n, \quad 1 \leq n \leq N, \quad 1 \leq i \leq M - 1, \end{aligned} \quad (3.2)$$

where  $R_i^n = O(\tau + h^4)$  is the local truncation error.

Removing the local truncation error in Eq (3.2) yields the numerical scheme as

$$\begin{aligned} C_h^{\alpha,\lambda} (U_i^n - U_i^{n-1}) &= \tau K[B_h^{\alpha,\lambda} U_i^n + (\alpha - 1)\lambda^\alpha C_h^{\alpha,\lambda} U_i^n - \alpha\lambda^{\alpha-1} B_h^{1,\lambda} U_i^n \\ &\quad + \alpha\lambda^{\alpha-1} h^2 (\frac{1}{6} - c) (\lambda^3 U_i^n + 3\lambda^2 \delta_x U_i^n + 3\lambda \delta_x^2 U_i^n + \delta_{x,1}^3 U_i^n)] + \tau C_h^{\alpha,\lambda} f_i^n, \end{aligned} \quad (3.3)$$

the matrix form of the numerical scheme (3.3) can be written as

$$(C^{(\alpha)} - \tau KP - \tau KQ)U^n = C^{(\alpha)}U^{n-1} + \tau C^{(\alpha)}f^n + F^n, \quad (3.4)$$





$$D^{(2)} = \frac{1}{h^2} \begin{pmatrix} -2 & 1 & & & \\ & 1 & -2 & 1 & \\ & & \ddots & \ddots & \ddots \\ & & & 1 & -2 & 1 \\ & & & & 1 & -2 \end{pmatrix}, \quad (3.9)$$

$$D^{(3)} = \frac{1}{2h^3} \begin{pmatrix} -10 & 3 & & & & \\ & 12 & -10 & 3 & & \\ & & -6 & 12 & -10 & 3 \\ & & & 1 & -6 & 12 & -10 & 3 \\ & & & & \ddots & \ddots & \ddots & \ddots & \ddots \\ & & & & & & & 1 & -6 & 12 & -10 \end{pmatrix}, \quad (3.10)$$

and

$$F^n = (U_0^{n-1} + \tau f_0^n - U_0^n) \begin{pmatrix} ce^{-\lambda h} \\ 0 \\ \vdots \\ 0 \end{pmatrix} + (U_M^{n-1} + \tau f_M^n - U_M^n) \begin{pmatrix} 0 \\ \vdots \\ 0 \\ ce^{\lambda h} \end{pmatrix} \\ + \tau KU_0^n \begin{pmatrix} \frac{w_2^\alpha}{h^\alpha} + c(\alpha - 1)\lambda^\alpha e^{-\lambda h} + \frac{\alpha\lambda^{\alpha-1}e^{-\lambda h}}{2h} + (\frac{1}{6} - c)\alpha\lambda^{\alpha-1}h^2(\frac{-3\lambda^2}{2h} + \frac{3\lambda}{h^2} + \frac{6}{h^3}) \\ \frac{w_3^\alpha}{h^\alpha} + (\frac{1}{6} - c)\alpha\lambda^{\alpha-1}h^2(\frac{-3}{h^3}) \\ \frac{w_4^\alpha}{h^\alpha} + (\frac{1}{6} - c)\alpha\lambda^{\alpha-1}h^2(\frac{1}{2h^3}) \\ \frac{w_5^\alpha}{h^\alpha} \\ \vdots \\ \frac{w_M^\alpha}{h^\alpha} \end{pmatrix} \\ + \tau KU_M^n \begin{pmatrix} 0 \\ \vdots \\ 0 \\ \frac{w_0^\alpha}{h^\alpha} + c(\alpha - 1)\lambda^\alpha e^{\lambda h} - \frac{\alpha\lambda^{\alpha-1}e^{\lambda h}}{2h} + (\frac{1}{6} - c)\alpha\lambda^{\alpha-1}h^2(\frac{3\lambda^2}{2h} + \frac{3\lambda}{h^2} + \frac{3}{2h^3}) \end{pmatrix}. \quad (3.11)$$

The same idea is used to solve problem (1.2). The operator  $\Delta_x^\alpha$  is applied to both the left and right ends of the equation, and we obtain

$$\Delta_x^\alpha \frac{\partial u(x, t)}{\partial t} = K[\Delta_x^\alpha D_{x,b}^{\alpha,\lambda} u(x, t) + (\alpha - 1)\lambda^\alpha \Delta_x^\alpha u(x, t) - \alpha\lambda^{\alpha-1} \Delta_x^1 D_{x,b}^{1,\lambda} u(x, t)] \quad (3.12)$$

$$+ \alpha \lambda^{\alpha-1} h^2 \left( \frac{1}{6} - c \right) D_{x,b}^{2,\lambda} (D_{x,b}^{1,\lambda} u(x, t)) + \Delta_x^\alpha f(x, t), \quad (3.13)$$

then the backward Euler method is carried out at the point  $(x_i, t_n)$  to discrete the time partial derivative. By Theorem 2.1, we get

$$\begin{aligned} \hat{C}_h^{\alpha,\lambda} \left( \frac{u_i^n - u_i^{n-1}}{\tau} \right) = & K [\hat{B}_h^{\alpha,\lambda} u_i^n + (\alpha - 1) \lambda^\alpha \hat{C}_h^{\alpha,\lambda} u_i^n - \alpha \lambda^{\alpha-1} \hat{B}_h^{1,\lambda} u_i^n \\ & + \alpha \lambda^{\alpha-1} h^2 \left( \frac{1}{6} - c \right) (\lambda^3 u_i^n + 3 \lambda^2 \delta_x u_i^n + 3 \lambda \delta_x^2 u_i^n + \delta_{x,1}^3 u_i^n)] \\ & + \hat{C}_h^{\alpha,\lambda} f_i^n + \hat{R}_i^n, \quad 1 \leq n \leq N, \quad 1 \leq i \leq M - 1, \end{aligned} \quad (3.14)$$

where  $\hat{R}_i^n = O(\tau + h^4)$  is the local truncation error.

Removing the local truncation error in Eq (3.14) yields the numerical scheme as

$$\begin{aligned} \hat{C}_h^{\alpha,\lambda} (U_i^n - U_i^{n-1}) = & \tau K [\hat{B}_h^{\alpha,\lambda} U_i^n + (\alpha - 1) \lambda^\alpha \hat{C}_h^{\alpha,\lambda} U_i^n - \alpha \lambda^{\alpha-1} \hat{B}_h^{1,\lambda} U_i^n \\ & + \alpha \lambda^{\alpha-1} h^2 \left( \frac{1}{6} - c \right) (\lambda^3 U_i^n - 3 \lambda^2 \delta_x U_i^n + 3 \lambda \delta_x^2 U_i^n - \delta_{x,2}^3 U_i^n)] + \tau \hat{C}_h^{\alpha,\lambda} f_i^n, \end{aligned} \quad (3.15)$$

the matrix form of the numerical scheme (3.15) can be written as

$$(\hat{C}^{(\alpha)} - \tau K \hat{P} - \tau K \hat{Q}) U^n = \hat{C} U^{n-1} + \tau \hat{C}^{(\alpha)} f^n + \hat{F}^n, \quad (3.16)$$

where  $\hat{P} = \hat{B}^{(\alpha)} + (\alpha - 1) \lambda^\alpha \hat{C}^{(\alpha)} - \alpha \lambda^{\alpha-1} \hat{B}^{(1)} + (\frac{1}{6} - c) \alpha \lambda^{\alpha+2} h^2 E$ ,  $\hat{Q} = (\frac{1}{6} - c) \alpha \lambda^{\alpha-1} h^2 (-3 \lambda^2 D^{(1)} + 3 \lambda D^{(2)} - \hat{D}^{(3)})$ ,  $\hat{B}^{(\alpha)} = (B^{(\alpha)})^T$ ,  $\hat{B}^{(1)} = (B^{(1)})^T$ ,  $\hat{C}^{(\alpha)} = (C^{(\alpha)})^T$ ,  $\hat{P} = P^T$ ,  $\hat{D}^{(3)} = -(D^{(3)})^T$ ,  $\hat{Q} = Q^T$ ,

$$\begin{aligned} \hat{F}^n = & (U_0^{n-1} + \tau f_0^n - U_0^n) \begin{pmatrix} c e^{\lambda h} \\ 0 \\ \vdots \\ 0 \end{pmatrix} + (U_M^{n-1} + \tau f_M^n - U_M^n) \begin{pmatrix} 0 \\ \vdots \\ 0 \\ c e^{-\lambda h} \end{pmatrix} \\ & + \tau K U_M^n \begin{pmatrix} \frac{w_M^\alpha}{h^\alpha} \\ \vdots \\ \frac{w_5^\alpha}{h^\alpha} \\ \frac{w_4^\alpha}{h^\alpha} + (\frac{1}{6} - c) \alpha \lambda^{\alpha-1} h^2 (\frac{1}{2h^3}) \\ \frac{w_3^\alpha}{h^\alpha} + (\frac{1}{6} - c) \alpha \lambda^{\alpha-1} h^2 (-\frac{3}{h^3}) \\ \frac{w_2^\alpha}{h^\alpha} + c(\alpha - 1) \lambda^\alpha e^{-\lambda h} + \frac{\alpha \lambda^{\alpha-1} e^{-\lambda h}}{2h} + (\frac{1}{6} - c) \alpha \lambda^{\alpha-1} h^2 (\frac{-3\lambda^2}{2h} + \frac{3\lambda}{h^2} + \frac{6}{h^3}) \end{pmatrix} \\ & + \tau K U_0^n \begin{pmatrix} \frac{w_0^\alpha}{h^\alpha} + c(\alpha - 1) \lambda^\alpha e^{\lambda h} - \frac{\alpha \lambda^{\alpha-1} e^{\lambda h}}{2h} + (\frac{1}{6} - c) \alpha \lambda^{\alpha-1} h^2 (\frac{3\lambda^2}{2h} + \frac{3\lambda}{h^2} + \frac{3}{2h^3}) \\ 0 \\ \vdots \\ 0 \end{pmatrix}. \end{aligned} \quad (3.17)$$

#### 4. Stability and convergence analysis of the numerical schemes

In this section, we use the energy method to prove in detail that numerical schemes (3.3) and (3.15) are valid. Before doing so, we first introduce some lemmas that will be used.

**Lemma 4.1.** [40] *A real matrix  $A$  of order  $M$  is positive definite if and only if  $D = \frac{A+A^T}{2}$  is positive definite.*

**Lemma 4.2.** [41] *Let  $T$  be a Toeplitz matrix with the generating function  $f(x)$  being a  $2\pi$ -periodic continuous real-valued function. Denote  $\lambda_{\min}(T)$  and  $\lambda_{\max}(T)$  as the smallest and largest eigenvalues of  $T$ , respectively. Then, we have*

$$f_{\min}(x) \leq \lambda_{\min}(T) \leq \lambda_{\max}(T) \leq f_{\max}(x),$$

where  $f_{\min}(x)$  and  $f_{\max}(x)$  denote the minimum and maximum values of  $f(x)$ , respectively. In particular, if  $f(x)$  is a nonpositive function and is not always zero, and  $f_{\min}(x) \neq f_{\max}(x)$ ,

$$f_{\min}(x) < \lambda(T) < f_{\max}(x).$$

**Lemma 4.3.** [41] (Weyl's theorem). *Let  $A, E \in \mathbb{C}^{n \times n}$  be a Hermitian matrix and the eigenvalues  $\lambda_i(A), \lambda_i(E), \lambda_i(A + E)$  be arranged in an increasing order. Then, for each  $k = 1, 2, \dots, n$ , we have*

$$\lambda_k(A) + \lambda_1(E) \leq \lambda_k(A + E) \leq \lambda_k(A) + \lambda_n(E).$$

**Lemma 4.4.** *For  $1 < \alpha < 2, 0 < \lambda h \leq 1$ , then the matrices  $P, Q$ , and  $C^{(\alpha)}$  in Eq (3.4) have the following properties:*

$$(i). \begin{cases} p_{i,i} = \frac{w_1^\alpha}{h^\alpha} + (1 - 2c)\lambda^\alpha(\alpha - 1) + (\frac{1}{6} - c)\alpha\lambda^{\alpha+2}h^2 < 0, \quad i = 1, 2, \dots, M - 1, \\ p_{i,i+1} = \frac{w_0^\alpha}{h^\alpha} + c\lambda^\alpha(\alpha - 1)e^{\lambda h} - \frac{1}{2h}\alpha\lambda^{\alpha-1}e^{\lambda h}, \quad i = 1, 2, \dots, M - 2, \\ p_{i+1,i} = \frac{w_2^\alpha}{h^\alpha} + c\lambda^\alpha(\alpha - 1)e^{-\lambda h} + \frac{1}{2h}\alpha\lambda^{\alpha-1}e^{-\lambda h}, \quad i = 1, 2, \dots, M - 2, \\ p_{i,i+1} + p_{i+1,i} > 0, \quad i = 1, 2, \dots, M - 2, \\ p_{i+k,i} = \frac{1}{h^\alpha}w_{k+1}^\alpha > 0, \quad i = 1, 2, \dots, M - k - 1, \quad k = 2, 3, \dots, M - 2, \\ p_{i,i+k} = 0, \quad i = 1, 2, \dots, M - k - 1, \quad k = 2, 3, \dots, M - 2, \\ \sum_{k=0}^{+\infty} w_k^{(\alpha)} + (\lambda h)^\alpha(\alpha - 1)[1 - 2c + c(e^{\lambda h} + e^{-\lambda h})] + (\frac{1}{6} - c)\alpha(\lambda h)^{\alpha+2} + \frac{\alpha(\lambda h)^{\alpha-1}}{2}(e^{-\lambda h} - e^{\lambda h}) < 0, \end{cases}$$

and the matrix  $P$  is negative definite.

(ii). *The matrix  $Q$  is negative definite.*

(iii). *For all given nonzero real column vectors  $\epsilon$ ,  $C^{(\alpha)}$  satisfies that*

$$\frac{1}{12}\epsilon^T \epsilon < \epsilon^T C^{(\alpha)} \epsilon < \frac{4}{3}\epsilon^T \epsilon.$$

*Proof.* (i). By simple calculation, it is easy to obtain the properties of the elements of the matrix  $P$ ; From the Gerschgorin disk theorem [42], we get that the matrix  $P$  is negative definite.

(ii). Note that  $Q = (\frac{1}{6} - c)\alpha\lambda^{\alpha-1}h^2(3\lambda^2D^{(1)} + 3\lambda D^{(2)} + D^{(3)})$ , so we just consider  $3\lambda^2D^{(1)} + 3\lambda D^{(2)} + D^{(3)}$ . First, it is easy to show that the matrix  $3\lambda^2D^{(1)} + 3\lambda D^{(2)}$  is negative definite; and then for the matrix  $D^{(3)}$ , let  $D = \frac{D^{(3)} + (D^{(3)})^T}{2}$ , which is a Toeplitz matrix, and the generating function [41] is

$$f(x) = \frac{1}{4h^3}(8\cos^3 x - 24\cos^2 x + 24\cos x - 8) = \frac{2}{h^3}(\cos x - 1)^3 \leq 0, x \in [-\pi, \pi].$$

From Lemma 4.2, we can see that the matrix  $D$  is negative definite. Further from Lemma 4.1, the matrix  $Q$  is negative definite.

(iii). Let  $H = \frac{C^{(\alpha)} + (C^{(\alpha)})^T}{2}$ , and the generating function of the matrix  $H$  is

$$f(x) = 1 - 2c + c(e^{\lambda h} + e^{-\lambda h})\cos x, \quad x \in [-\pi, \pi].$$

From Lemma 4.2, we obtain  $1 - c(e^{\lambda h} + e^{-\lambda h} + 2) \leq \lambda(H) \leq 1 + c(e^{\lambda h} + e^{-\lambda h} - 2)$ , and it is easy to check  $\frac{1}{12} < \lambda(H) < \frac{4}{3}$ , which means  $\frac{1}{12}\epsilon^T \epsilon < \epsilon^T H \epsilon < \frac{4}{3}\epsilon^T \epsilon$ , that is,  $\frac{1}{12}\epsilon^T \epsilon < \epsilon^T C^{(\alpha)} \epsilon < \frac{4}{3}\epsilon^T \epsilon$ .

Thus, all the conclusions of the lemma are proved.  $\square$

**Lemma 4.5.** [43] Assume that  $\{k_n\}$  and  $\{p_n\}$  are nonnegative sequences, and the sequence  $\{\phi_n\}$  satisfies

$$\phi_0 \leq g_0, \quad \phi_n \leq g_0 + \sum_{l=0}^{n-1} p_l + \sum_{l=0}^{n-1} k_l \phi_l, \quad n \geq 1,$$

where  $g_0 \geq 0$ . Then, the sequence  $\{\phi_n\}$  satisfies

$$\phi_n \leq (g_0 + \sum_{l=0}^{n-1} p_l) \exp\left(\sum_{l=0}^{n-1} k_l\right), \quad n \geq 1.$$

To prove the stability and convergence of numerical schemes by the energy method, we define  $\mathbf{U}_h = \{\mathbf{u} | \mathbf{u} = \{\mathbf{u}_i\}\}$  as a grid function defined on  $\{x_i = a + ih\}_{i=1}^{M-1}$ , for  $\mathbf{u} \in \mathbf{U}_h$ , and the corresponding discrete  $L_2$ -norm is defined as  $\|\mathbf{u}\|_{L_2} = (h \sum_{i=1}^{M-1} \mathbf{u}_i^2)^{1/2}$ . Next, we present the theoretical analysis.

**Theorem 4.1.** For  $\alpha \in (1, 2)$ , let  $0 < \lambda h \leq 1$ , then the numerical scheme (3.3) is stable for solving problem (1.1).

*Proof.* Let  $U_i^n$  and  $V_i^n$  represent the solution obtained by solving problem (1.1) using scheme (3.3) from different initial values. Denoting  $\varepsilon_i^n = U_i^n - V_i^n$ ,  $\varepsilon^n = (\varepsilon_1^n, \varepsilon_2^n, \dots, \varepsilon_{M-1}^n)^T$ , it can be seen from Eq (3.3) that

$$(C^{(\alpha)} - \tau KP - \tau KQ)\varepsilon^n = C^{(\alpha)}\varepsilon^{n-1}. \quad (4.1)$$

Multiplying the left side of both sides of Eq (4.1) by  $h(\varepsilon^n)^T$ , we obtain

$$h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^n = h(\varepsilon^n)^T (\tau KP + \tau KQ) \varepsilon^n + h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^{n-1}. \quad (4.2)$$

From Lemma 4.3, we know that matrix  $P + Q$  is negative definite, so

$$h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^n \leq h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^{n-1} \leq \frac{1}{2}[h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^n + h(\varepsilon^{n-1})^T C^{(\alpha)} \varepsilon^{n-1}], \quad (4.3)$$

which implies that

$$h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^n \leq h(\varepsilon^{n-1})^T C^{(\alpha)} \varepsilon^{n-1} \leq h(\varepsilon^{n-1})^T C^{(\alpha)} \varepsilon^{n-1} \leq \dots \leq h(\varepsilon^0)^T C^{(\alpha)} \varepsilon^0. \quad (4.4)$$

Finally, it follows from Lemma 4.4 that

$$\frac{1}{12} \|\varepsilon^n\|_{L_2}^2 \leq h(\varepsilon^n)^T C^{(\alpha)} \varepsilon^n \leq h(\varepsilon^0)^T C^{(\alpha)} \varepsilon^0 \leq \frac{4}{3} \|\varepsilon^0\|_{L_2}^2, \quad (4.5)$$

that is,

$$\|\varepsilon^n\|_{L_2}^2 \leq 16 \|\varepsilon^0\|_{L_2}^2.$$

At this point, we have proved that the numerical scheme (3.3) is stable.  $\square$

**Theorem 4.2.** For  $\alpha \in (1, 2)$ , let  $0 < \lambda h \leq 1$ , then the numerical scheme (3.3) is convergent for solving problem (1.1), that is, the following relationship is satisfied:

$$\|e^n\|_{L_2}^2 \leq C_1(\tau + h^4), \quad 1 \leq n \leq N,$$

where  $e^n = (e_1^n, e_2^n, \dots, e_{M-1}^n)^T$ ,  $e_i^n = u_i^n - U_i^n$ , and  $C_1$  is a constant independent of  $n$ ,  $\tau$ , and  $h$ .

*Proof.* Subtracting (3.3) from (3.2) and from scheme (3.4), we obtain

$$(C^{(\alpha)} - \tau KP - \tau KQ)e^n = C^{(\alpha)} e^{n-1} + \tau R^n, \quad (4.6)$$

where  $R^n = (R_1^n, R_2^n, \dots, R_{M-1}^n)^T$ .

Let's multiply both sides of (4.6) by  $h(e^n)^T$ , which can be written as

$$h(e^n)^T C^{(\alpha)} e^n = \tau Kh(e^n)^T (P + Q)e^n + h(e^n)^T C^{(\alpha)} e^{n-1} + \tau h(e^n)^T R^n. \quad (4.7)$$

Denoting  $E^n = h(e^n)^T C^{(\alpha)} e^n$ , similar to the proof of Theorem 4.1,

$$\begin{aligned} \frac{1}{12} \|e^n\|_{L_2}^2 &\leq E^n \\ &\leq E^{n-1} + 2\tau h(e^n)^T R^n \\ &\leq E^0 + 2\tau h \sum_{k=1}^n (e^k)^T R^k \\ &\leq \frac{4}{3} \|e^0\|_{L_2}^2 + 2\tau \left( \frac{1}{48\tau} \|e^n\|_{L_2}^2 + 12\tau \|R^n\|_{L_2}^2 \right) + 2\tau \sum_{k=1}^{n-1} \left( \frac{1}{48} \|e^k\|_{L_2}^2 + 12\|R^k\|_{L_2}^2 \right). \end{aligned} \quad (4.8)$$

Noticing that  $\|e^0\|_{L_2}^2 = 0$ , the Eq (4.8) can be rearranged as

$$\|e^n\|_{L_2}^2 \leq \tau \sum_{k=1}^{n-1} \|e^k\|_{L_2}^2 + 576\tau \sum_{k=1}^{n-1} \|R^k\|_{L_2}^2 + 576\tau^2 \|R^n\|_{L_2}^2. \quad (4.9)$$

By the Lemma 4.5 (discrete *Gronwall* inequalities), we obtain

$$\|e^n\|_{L_2}^2 \leq e^T (576\tau \sum_{k=1}^{n-1} \|R^k\|_{L_2}^2 + 576\tau^2 \|R^n\|_{L_2}^2), \quad (4.10)$$

that is,

$$\|e^n\|_{L_2} \leq C_1(\tau + h^4). \quad (4.11)$$

Thus, the theorem is proved.  $\square$

By the same idea, we can obtain the following theorem, whose proof we skip here.

**Theorem 4.3.** For  $\alpha \in (1, 2)$ , let  $0 < \lambda h \leq 1$ , then the numerical scheme (3.15) is stable for solving problem (1.2).

**Theorem 4.4.** For  $\alpha \in (1, 2)$ , let  $0 < \lambda h \leq 1$ , then the numerical scheme (3.15) is convergent for solving problem (1.2), that is, the following relationship is satisfied:

$$\|e^n\|_{L_2}^2 \leq C_2(\tau + h^4), \quad 1 \leq n \leq N,$$

where  $e^n = (e_1^n, e_2^n, \dots, e_{M-1}^n)^T$ ,  $e_i^n = u_i^n - U_i^n$ , and  $C_2$  is a constant independent of  $n$ ,  $\tau$ , and  $h$ .

## 5. Numerical experiments

In this section, we present some numerical experiments to verify the convergence accuracy of the numerical schemes. Let

$$\text{Order} = \log_m \left( \frac{\|e\|_{L_2, h}}{\|e\|_{L_2, h/m}} \right),$$

be the order of observation.

**Example 5.1.** Consider the following left Riemann-Liouville tempered fractional diffusion equation with initial-boundary value problem

$$\begin{cases} \frac{\partial u(x,t)}{\partial t} = D_{0,x}^{\alpha,\lambda} u(x,t) - \lambda^\alpha u(x,t) - \alpha \lambda^{\alpha-1} \frac{\partial u(x,t)}{\partial x} + f(x,t), & (x,t) \in (0,1) \times (0,1], \\ u(0,t) = 0, u(1,t) = e^{t-\lambda}, & t \in [0,1], \\ u(x,0) = e^{-\lambda x} x^6, & x \in (0,1), \end{cases}$$

where  $1 < \alpha < 2$ , and the linear source term is

$$f(x,t) = e^{t-\lambda x} [(1 + \lambda^\alpha - \alpha \lambda^\alpha) x^6 + 6\alpha \lambda^{\alpha-1} x^5 - \frac{\Gamma(7)}{\Gamma(7-\alpha)} x^{6-\alpha}],$$

and the exact solution is  $u(x,t) = e^{t-\lambda x} x^6$ .

Set the relationship between time step size and space step size as  $\tau = h^4$  for all numerical experiments. Choose different  $\alpha$ ,  $\lambda$ , and space step size  $h$ , and use numerical scheme (3.3) to solve Example 5.1. The error and observation order results obtained are shown in Table 1. From Table 1, it can be seen that the space convergence order reaches the fourth order, and the numerical results are in perfect agreement with the theoretical analysis.

**Table 1.** The numerical results obtained in Example 5.1 are computed by the numerical scheme (3.3) at  $t = 1$ .

$\alpha$	$h$	$\lambda = 1/5$		$\lambda = 1$		$\lambda = 5$		Time(s)
		$\ e\ _{L_2}$	Order	$\ e\ _{L_2}$	Order	$\ e\ _{L_2}$	Order	
1.1	1/10	1.3130e-04		4.1820e-05		4.7268e-06		0.0975
	1/15	2.6460e-05	3.9506	8.3497e-06	3.9736	1.0110e-06	3.8038	0.7121
	1/20	8.4533e-06	3.9665	2.6544e-06	3.9836	3.3111e-07	3.8801	2.7296
	1/25	3.4822e-06	3.9745	1.0901e-06	3.9882	1.3823e-07	3.9147	8.2779
1.5	1/10	2.8480e-04		1.3493e-04		2.7545e-05		0.1022
	1/15	5.7261e-05	3.9564	2.6583e-05	4.0065	5.8428e-06	3.8243	0.6929
	1/20	1.8275e-05	3.9700	8.3898e-06	4.0088	1.9067e-06	3.8926	2.9840
	1/25	7.5243e-06	3.9768	3.4300e-06	4.0084	7.9433e-07	3.9241	8.7314
1.9	1/10	1.4830e-04		7.7791e-05		3.4075e-05		0.1108
	1/15	2.9868e-05	3.9521	1.4949e-05	4.0679	7.1197e-06	3.8615	0.7326
	1/20	9.5371e-06	3.9683	4.6496e-06	4.0596	2.3064e-06	3.9181	2.9485
	1/25	3.9271e-06	3.9763	1.8829e-06	4.0511	9.5663e-07	3.9438	8.6782

**Example 5.2.** Consider the following right Riemann-Liouville tempered fractional diffusion equation with initial-boundary value problem

$$\begin{cases} \frac{\partial u(x,t)}{\partial t} = D_{x,1}^{\alpha,\lambda} u(x,t) - \lambda^\alpha u(x,t) + \alpha \lambda^{\alpha-1} \frac{\partial u(x,t)}{\partial x} + f(x,t), & (x,t) \in (0,1) \times (0,1], \\ u(0,t) = e^t, u(1,t) = 0, & t \in [0,1], \\ u(x,0) = e^{\lambda x} (1-x)^8, & x \in (0,1), \end{cases}$$

where  $1 < \alpha < 2$ , and the linear source term is

$$f(x,t) = e^{t+\lambda x} [(1 + \lambda^\alpha - \alpha \lambda^\alpha)(1-x)^8 + 8\alpha \lambda^{\alpha-1}(1-x)^7 - \frac{\Gamma(9)}{\Gamma(9-\alpha)}(1-x)^{8-\alpha}],$$

and the exact solution is  $u(x,t) = e^{t+\lambda x}(1-x)^8$ .

The numerical scheme (3.15) is used to solve Example 5.2, and the obtained numerical results are presented in Table 2 for different  $\alpha$ ,  $\lambda$ , and space step size  $h$ . From Table 2, we find that the space convergence order is fourth order, and the numerical results are consistent with the theoretical results.



**Table 2.** The numerical results obtained in Example 5.2 are computed by the numerical scheme (3.15) at  $t = 1$ .

$\alpha$	$h$	$\lambda = 1/5$		$\lambda = 1$		$\lambda = 5$		Time(s)
		$\ e\ _{L_2}$	Order	$\ e\ _{L_2}$	Order	$\ e\ _{L_2}$	Order	
1.1	1/10	9.1487e-04		7.0276e-04		1.1609e-03		0.1055
	1/15	1.8988e-04	3.8780	1.4515e-04	3.8900	2.5294e-04	3.7581	0.7646
	1/20	6.1547e-05	3.9161	4.6930e-05	3.9249	8.3946e-05	3.8340	2.9746
	1/25	2.5572e-05	3.9360	1.9468e-05	3.9431	3.5365e-05	3.8740	8.9580
1.5	1/10	1.9184e-03		2.2558e-03		7.2422e-03		0.1153
	1/15	3.9926e-04	3.8712	4.7089e-04	3.8638	1.5730e-03	3.7659	0.7558
	1/20	1.2964e-04	3.9101	1.5301e-04	3.9075	5.2152e-04	3.8375	3.1384
	1/25	5.3930e-05	3.9305	6.3662e-05	3.9298	2.1958e-04	3.8766	9.1835
1.9	1/10	1.1269e-03		1.5888e-03		6.4974e-03		0.1217
	1/15	2.3282e-04	3.8893	3.3031e-04	3.8738	1.3517e-03	3.8722	0.8132
	1/20	7.5358e-05	3.9210	1.0712e-04	3.9143	4.3885e-04	3.9104	3.1974
	1/25	3.1293e-05	3.9385	4.4519e-05	3.9348	1.8250e-04	3.9320	9.2827

## 6. Conclusions

In this paper, we focus on fourth-order numerical algorithms for one-sided tempered fractional diffusion equations. By using the quasi-compact technique, the fourth-order quasi-compact approximations of the tempered fractional derivatives and the effective second-order approximations of the third-order tempered derivatives are given. It is proved that the numerical schemes are stable and convergent. Finally, some experiments are given to demonstrate the effectiveness of the numerical schemes.

## Acknowledgments

The author would like to express thanks to the editors and anonymous reviewers for their valuable comments and suggestions. This research is supported by the Xinjiang University of Political Science and Law.

## Conflict of interest

The author has no conflict of interest.

## References

1. E. Scalas, R. Gorenflo, F. Mainardi, Fractional calculus and continuous-time finance, *Physica A*, **284** (2000), 376–384. [https://doi.org/10.1016/S0378-4371\(00\)00255-7](https://doi.org/10.1016/S0378-4371(00)00255-7)
2. R. Hilfer, *Applications of fractional calculus in physics*, Singapore: World Scientific, 2000. <https://doi.org/10.1142/3779>

3. S. Fedotov, A. Iomin, Migration and proliferation dichotomy in tumor-cell invasion, *Phys. Rev. Lett.*, **98** (2007), 118101. <https://doi.org/10.1103/PhysRevLett.98.118101>
4. R. Metzler, J. Klafter, The restaurant at the end of the random walk: recent developments in the description of anomalous transport by fractional dynamics, *J. Phys. A: Math. Gen.*, **37** (2004), R161. <https://doi.org/10.1088/0305-4470/37/31/R01>
5. E. Scalas, Five years of continuous-time random walks in econophysics, In: *The complex networks of economic interactions*, Berlin: Springer, 2006, 3–16. [https://doi.org/10.1007/3-540-28727-2\\_1](https://doi.org/10.1007/3-540-28727-2_1)
6. E. Barkai, Y. Garini, R. Metzler, Strange kinetics of single molecules in living cells, *Phys. Today*, **65** (2012), 29–35. <https://doi.org/10.1063/PT.3.1677>
7. D. Benson, S. Wheatcraft, M. Meerschaert, Application of a fractional advection-dispersion equation, *Water Resour. Res.*, **36** (2000), 1403–1412. <https://doi.org/10.1029/2000WR900031>
8. J. Cushman, T. Ginn, Fractional advection-dispersion equation: a classical mass balance with convolution-Fickian Flux, *Water Resour. Res.*, **36** (2000), 3763–3766. <https://doi.org/10.1029/2000WR900261>
9. Y. Zhang, D. Benson, D. Reeves, Time and space nonlocalities underlying fractional-derivative models: distinction and literature review of field applications, *Adv. Water Resour.*, **32** (2009), 561–581. <https://doi.org/10.1016/j.advwatres.2009.01.008>
10. J. Klafter, I. Sokolov, Anomalous diffusion spreads its wings, *Phys. World*, **18** (2005), 29. <https://dx.doi.org/10.1088/2058-7058/18/8/33>
11. M. Meerschaert, C. Tadjeran, Finite difference approximations for fractional advection-dispersion equations, *J. Comput. Appl. Math.*, **172** (2004), 65–77. <https://doi.org/10.1016/j.cam.2004.01.033>
12. F. Liu, V. Anh, I. Turner, Numerical solution of the space fractional Fokker-Plank equation, *J. Comput. Appl. Math.*, **166** (2004), 209–219. <https://doi.org/10.1016/j.cam.2003.09.028>
13. M. Hooshmandasl, M. Heydari, C. Cattani, Numerical solution of fractional sub-diffusion and time-fractional diffusion-wave equations via fractional-order Legendre functions, *Eur. Phys. J. Plus*, **131** (2016), 268. <https://doi.org/10.1140/epjp/i2016-16268-2>
14. Y. Zhao, T. Huang, X. Gu, W. Luo, A fast second-order implicit difference method for time-space fractional advection-diffusion equation, *Numer. Func. Anal. Opt.*, **41** (2020), 257–293. <https://doi.org/10.1080/01630563.2019.1627369>
15. Z. Zhou, T. Hang, H. Pan, Y. Wang, The upwind PPM scheme and analysis for solving two-sided space-fractional advection-diffusion equations in three dimension, *Comput. Math. Appl.*, **150** (2023), 70–86. <https://doi.org/10.1016/j.camwa.2023.09.005>
16. C. Tadjeran, M. Meerschaert, H. Scheffler, A second-order accurate numerical approximation for the fractional diffusion equation, *J. Comput. Phys.*, **213** (2006), 205–213. <https://doi.org/10.1016/j.jcp.2005.08.008>
17. M. Meerschaert, C. Tadjeran, Finite difference approximations for two-sided space-fractional partial differential equations, *Appl. Numer. Math.*, **56** (2006), 80–90. <https://doi.org/10.1016/j.apnum.2005.02.008>

18. C. Çelik, M. Duman, Crank-Nicolson method for the fractional diffusion equation with the Riesz fractional derivative, *J. Comput. Phys.*, **231** (2012), 1743–1750. <https://doi.org/10.1016/j.jcp.2011.11.008>
19. F. Liu, P. Zhuang, K. Burrage, Numerical methods and analysis for a class of fractional advection-dispersion models, *Comput. Math. Appl.*, **64** (2012), 2990–3007. <https://doi.org/10.1016/j.camwa.2012.01.020>
20. W. Tian, H. Zhou, W. Deng, A class of second order difference approximations for solving space fractional diffusion equations, *Math. Comput.*, **84** (2015), 1703–1727. <https://doi.org/10.1090/s0025-5718-2015-02917-2>
21. F. Sabzikar, M. Meerschaert, J. Chen, Tempered fractional calculus, *J. Comput. Phys.*, **293** (2015), 14–28. <https://doi.org/10.1016/j.jcp.2014.04.024>
22. M. Meerschaert, Y. Zhang, B. Baeumer, Tempered anomalous diffusion in heterogeneous systems, *Geophys. Res. Lett.*, **35** (2008), L17403. <https://doi.org/10.1029/2008GL034899>
23. Á. Cartea, D. del-Castillo-Negrete, Fluid limit of the continuous-time random walk with general Lévy jump distribution functions, *Phys. Rev. E*, **76** (2007), 041105. <https://doi.org/10.1103/physreve.76.041105>
24. W. Luo, X. Gu, L. Yang, J. Meng, A Lagrange-quadratic spline optimal collocation method for the time tempered fractional diffusion equation, *Math. Comput. Simulat.*, **182** (2021), 1–24. <https://doi.org/10.1016/j.matcom.2020.10.016>
25. B. Baeumer, M. Meerschaert, Tempered stable Lévy motion and transient super-diffusion, *J. Comput. Appl. Math.*, **233** (2010), 2438–2448. <https://doi.org/10.1016/j.cam.2009.10.027>
26. C. Li, W. Deng, High order schemes for the tempered fractional diffusion equations, *Adv. Comput. Math.*, **42** (2016), 543–572. <https://doi.org/10.1007/s10444-015-9434-z>
27. E. Hanert, C. Piret, A Chebyshev pseudospectral method to solve the space-time tempered fractional diffusion equation, *SIAM J. Sci. Comput.*, **36** (2014), A1797–A1812. <https://doi.org/10.1137/130927292>
28. M. Dehghan, M. Abbaszadeh, W. Deng, Fourth-order numerical method for the space-time tempered fractional diffusion-wave equation, *Appl. Math. Lett.*, **73** (2017), 120–127. <https://doi.org/10.1016/j.aml.2017.04.011>
29. W. Deng, Z. Zhang, Numerical schemes of the time tempered fractional Feynman-Kac equation, *Comput. Math. Appl.*, **73** (2017), 1063–1076. <https://doi.org/10.1016/j.camwa.2016.12.017>
30. L. Feng, F. Liu, V. Anh, S. Qin, Analytical and numerical investigation on the tempered time-fractional operator with application to the Bloch equation and the two-layered problem, *Nonlinear Dyn.*, **109** (2022), 2041–2061. <https://doi.org/10.1007/s11071-022-07561-w>
31. H. Zhang, F. Liu, I. Turner, S. Chen, The numerical simulation of the tempered fractional Black-Scholes equation for European double barrier option, *Appl. Math. Model.*, **40** (2016), 5819–5834. <https://doi.org/10.1016/j.apm.2016.01.027>
32. D. Hu, X. Cao, The implicit midpoint method for Riesz tempered fractional diffusion equation with a nonlinear source term, *Adv. Differ. Equ.*, **2019** (2019), 66. <https://doi.org/10.1186/s13662-019-1990-y>

33. Z. Qiu, X. Cao, Second-order numerical methods for the tempered fractional diffusion equations, *Adv. Differ. Equ.*, **2019** (2019), 485. <https://doi.org/10.1186/s13662-019-2417-5>
34. Y. Zhao, P. Zhu, X. Gu, X. Zhao, H. Jian, A preconditioning technique for all-at-once system from the nonlinear tempered fractional diffusion equation, *J. Sci. Comput.*, **83** (2020), 10. <https://doi.org/10.1007/s10915-020-01193-1>
35. Z. Qiu, An unconditionally stable numerical method for space tempered fractional convection-diffusion models, *J. Math.*, **2024** (2024), 6710903. <https://doi.org/10.1155/2024/6710903>
36. H. Zhou, W. Tian, W. Deng, Quasi-compact finite difference schemes for space fractional diffusion equations, *J. Sci. Comput.*, **56** (2013), 45–66. <https://doi.org/10.1007/s10915-012-9661-0>
37. Z. Hao, Z. Sun, W. Cao, A fourth-order approximation of fractional derivatives with its applications, *J. Comput. Phys.*, **281** (2015), 787–805. <https://doi.org/10.1016/j.jcp.2014.10.053>
38. H. Ding, C. Li, High-order algorithms for riesz derivative and their applications (IV), *FCAA*, **22** (2019), 1537–1560. <https://doi.org/10.1515/fca-2019-0080>
39. Y. Yu, W. Deng, Y. Wu, J. Wu, Third order difference schemes (without using points outside of the domain) for one sided space tempered fractional partial differential equations, *Appl. Numer. Math.*, **112** (2017), 126–145. <https://doi.org/10.1016/j.apnum.2016.10.011>
40. R. Bhatia, *Positive definite matrices*, Princeton: Princeton University Press, 2007. <https://doi.org/10.1515/9781400827787>
41. R. Chan, X. Jin, *An introduction to iterative Toeplitz solvers*, Philadelphia: SIAM, 2007. <https://doi.org/10.1137/1.9780898718850>
42. R. Varga, *Matrix iterative analysis*, Berlin: Springer, 2009. <https://doi.org/10.1007/978-3-642-05156-2>
43. A. Quarteroni, A. Valli, *Numerical approximation of partial differential equations*, Berlin: Springer, 1994. <https://doi.org/https://doi.org/10.1007/978-3-540-85268-1>



© 2024 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<https://creativecommons.org/licenses/by/4.0>)